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Ql [A={-2,-1,0,12}
Q2. |12 Or 170
Q3 | {{1.2}, {1}.{2}. { }}-
Q4. | A = {x:xis an even natural number below 10} OR
(A-B)UB —-A)={1,24,5}
Q5. |26 =64
Q6 | R—{3,-3}
Q7 |BXA=1{(6,5),(66),(8,5),(8,6),(10,5),(10,6)}
Q8 R= {(0! _1) (1t 1)» (2' 3)' (3'5)}
1
Q9. | cos480° = -3
OR
2.2 radians= 126°
19\ _
Q10 | cot (T)_ -1
4 3
Q1L | IfcosA = - then sinA = =
OR
. 1 2tanA
If sin A= _ﬁ' Trtan?A = 1.
Q12 2cos7?n+xsin5?n=0 x =—2.
OR
Convert 47° 30’ :179—2" radian
Q13 x <5 XE{1,2,3,4}
Q14 x < 3 onnumber line
Q15 2400 + 30x < 42x

x > 2000. More than 2000 casettes.

Q16




<8, x € [4,8]

Q17

Q18

C (1/5)

Q19

A (2 -

V3)

Q20

D (127)

Q21

A

x=4,y=-2

Q22

A iandii

Q23

C

[0, 1)

Q24

B Domain: [-3, 3]

Range:

[0,3]

Q25

i)
i)
iii)
iv)
v)

A. 20

C.6

D 18 Any4 x1=4
B. 30

D9

Q26

a)
b)

R={(1,,1) (1,2),(1,3),(1,4),(1,5),(1,6),
(2,2),(2,4),(2,6),(3,3),(3,6),(4,4),(6,6)}
No. x elements have more than one image.

Q27

2m — 2" =120
27 —23 =120
m=7 n=3

Q28.

X X
x—2<3 and x — 2 > —3 §+Z+X<19
-1<x<5 19x
X € [—1,5] OR’ E< 19

x<12 x € (—x,19)

Q29

R={(xy)xyeAx+y>7}
R={(3,5) (4,4),(4,5),(5,3),(54)}
Domain = {3, 4, 5}

Range= {3, 4, 5}

Q30

83+84+«x

3
79 <x <88




Q31 The maximum number of elementsin | 2
AUB =9
A B The minimum number of elements in
AUB =6
P
C
— N
Q32 Domain =R Range=[2, ) 141
1
33 tan A +tan B tan A —tan B
Q tan(A+B)= RAENB 4 s _p)- BOA_tnB
| —tanAtanB l+tanAtanB
T
tan— ~fanx
= (—ﬂ 1 +tanx ) 1
N tzm(Z +x) _ 1—t311;—1ta11x _ 1 —tanx _ (1+ta11x);=
o tan (E —x) e —fr 1 —tanx 1 —tanx
4 477[ 1+tanx
1+tan — tanx
4
RH.S.
OR We know that 3x = 2x + x
1
tan 3x = tan(2x + x)
tan2x + tanx
tan3x =——
1-tan 2x tan x
tan3x - tan3x tan2x tanx = tan2x + tanx 1
tan 3x - tan 2x - tanx = tan3x tan2x tanx
tan3x tan2x tanx = tan3x - tan2x - tanx
Q34 x>10, x+2>10, x+x+2<29 1
x> 10and 2x < 27 1
Ans: 11and 13 Or 13 and 15
Q35 | A= {2,-3},B ={2,3} and C = {2,3). 2




Q36

LHS= cos (32—” + x) cos(2m — x) [tanx + cotx]

= sinx cos X[tanx + cot x|

, SiNX  cosx
= SIMXCOsX + —
COSX SINX

. b ]

. 51X T Ccos X

= (sinxcosx) [ —————
SIXCOSX

=1=RH.S5.

OR

tan

- 180
8

1—cosA
tan —= ———

2 s A
So. Now

45 3 1 —cos45
2 s 45

i
8
4

tan

LA e
e

-
-

Do T

Q37

x+y =
COS X +cos y =2 cos 5 cos -

i o 41 T
LHS= 2cos — cos — + 2cos — cos —
13 13 13 13

—> n( 97‘[+ 471)
= cos13 cos 13 00313

T i 51 i
2cos—(2cos—cos —) =0 as cos—-=0
13 2 26 2




OR 4 3 1
tand = 3 CoSA = 3
A |1—cosA A
smi = |7 3 in second quadrant 1
A 3
SIN—=—
2 410
1
Q38 | Given: 30° C < 35°
=$30<%(F-32)<35 1
= 30x2<F—32<35x2
5 5
= 54< F-32<63 1
= 86< F <95 1
Thus, the required range of temperature is between 86° F and 95°F
x—7
Q1 2x+3)-10<6(x—2) (55-)=10-x 2
1 .
—~7<20-2
= 4X+6-10<6X-12 X-7s20-2x 2
x<9
=4x-6X<-12+4
= -2X<-8 (/-»- “~
=>x>4 4 9
= X€ (4, =)
Q40 i) {0,1,2,4,6,7,8,8,9,10} 15
i) (2,4} 15
i) Verify LHS = RHS ={2,3,4,5,7,9} 2
Q41 i) 6 1
i) 11 1
i) 26 1
iv) 0 1
1

V) t+1




Q42

Solution

LHS— sin 4 +sin34d +sinb54 +sin7A4

T cos A+ cos3A + cosbA +cosTA
(sin7A + sin 4) + (sin5A4 + sin34)

~ (cosTA + cos A) + (cos5A + cos 34)
(2sin4A4 cos34) + (2sin4A cos 4)
(2cos 44 cos 34 + 2 cos 44 cos A)

_ 2sin4A [cus3A+DosA]

" 2cosd4A |cos3A +cos A
—tan44d = R. H. 5.

OR

e 2 Lot 2f X
LHS = cos” x + cos (z+3)—:cos (m 3)

3
i3 2 2

3+ cos2z + cos(2a: + %) + cos(2:1: - %)]

3 + cos 2z + 2 cos 2z cos %]

:3+cos2:c + 2 cos 2z cos (11’— g)]

-3 + cos 2z — 2 cos 2z cos g]

[3 + cos 2z — cos 2z|

[NC] RICTICY SO RSO RS Y RSy O e

:




